
CHEMISTRY

BOOKS - MODERN PUBLICATION CHEMISTRY

(KANNADA ENGLISH)

SOME BASIC CONCEPTS OF CHEMISTRY

Multiple Choice Question Level I

1. The number of significant figures in 0.0230 is :

A. 2

B. 3

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_HKfF3agB9Cdy


C. 4

D. 5

Answer: B

Watch Video Solution

2. The number of significant figures in  is:

A. one

B. three

C. eight

D. eleven

Answer: B

1.00 × 106

https://dl.doubtnut.com/l/_HKfF3agB9Cdy
https://dl.doubtnut.com/l/_ARrPg0aBP44V


Watch Video Solution

3. The distance of the sun from the earth is 93,000,000

miles. The number of significant figures is

A. eight

B. seven

C. two

D. between 2 and 8

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_ARrPg0aBP44V
https://dl.doubtnut.com/l/_p4f3Q39lYplZ


4. Which of the following numbers has three significant

figures ?

A. 0.009

B. 

C. 1023

D. 

Answer: D

Watch Video Solution

321.00

0.0300

5. In which of the following numbers, all zeros are

significant ?

https://dl.doubtnut.com/l/_ERVgEPNuaTrm
https://dl.doubtnut.com/l/_MkelpuIvxRMW


A. 2.0E-5

B. 

C. 

D. 

Answer: C

Watch Video Solution

0.0020

10.000

0.200

6. The number 32.392800 may be written upto three

significant figures as:

A. 32.4

B. 0.323 × 102

https://dl.doubtnut.com/l/_MkelpuIvxRMW
https://dl.doubtnut.com/l/_XXai2OwLwdSO


C. 

D. 

Answer: C

Watch Video Solution

34.2

32.393

7. The decimal equivalent of 2/5 may be written upto four

significant figures as :

A. 0.4

B. 

C. 

D. 

4.0 × 10− 1

0.4000

0.04000

https://dl.doubtnut.com/l/_XXai2OwLwdSO
https://dl.doubtnut.com/l/_nMQ5KNWbKUIb


Answer: C

Watch Video Solution

8. The value of Planck's constant is  .

The number of significant figures in it is :

A. six

B. five

C. three

D. thirty-four

Answer: A

Watch Video Solution

6.62618 × 10− 34Js

https://dl.doubtnut.com/l/_nMQ5KNWbKUIb
https://dl.doubtnut.com/l/_OkwqPCVmk7Xn


9. Calculate the result of 15. - 0.072 to proper number of

significant figures:

A. 15

B. 14.928

C. 14.9

D. 14.93

Answer: A

Watch Video Solution

10. Calculate to the correct number of significant figures :

4.26 - (15.635/5.0)

https://dl.doubtnut.com/l/_OkwqPCVmk7Xn
https://dl.doubtnut.com/l/_GhO2rQr3BWZd
https://dl.doubtnut.com/l/_vUQtPnCpXqTP


A. 1.13

B. 1.2

C. 1.1

D. 1.133

Answer: B

Watch Video Solution

11. Find the sum to the proper number of significant

figures : 12.90 + 0.0068 + 0.082 + 1.1

A. 14.0888

B. 14

https://dl.doubtnut.com/l/_vUQtPnCpXqTP
https://dl.doubtnut.com/l/_737zHvm0F0P0


C. 

D. 

Answer: D

Watch Video Solution

14.0

14.1

12. Add  and  to the

correct number of significant digits :

A. 

B. 

C. 

D. cannot be calculated

4.00 × 10− 2, 3.26 × 10− 3 1 × 10− 6

4.3261 × 10− 2

4.33 × 10− 2

4.3 × 10− 2

https://dl.doubtnut.com/l/_737zHvm0F0P0
https://dl.doubtnut.com/l/_9euNrFF4FcnE


Answer: B

Watch Video Solution

13.  may be written to correct

significant digits :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(3.50 × 102mL)– (0.0225L)

3.28 × 102mL

0.3275L

0.33L

https://dl.doubtnut.com/l/_9euNrFF4FcnE
https://dl.doubtnut.com/l/_aVPPfouIdUyF


14. The correct answer of 126/8.0 is (upto proper number

of significant figures) :

A. 15.75

B. 16

C. 15.7

D. none of these

Answer: B

Watch Video Solution

15.  upto correct number of significant figures is:(12.5)2

https://dl.doubtnut.com/l/_aVPPfouIdUyF
https://dl.doubtnut.com/l/_eY1k5GvqibLV
https://dl.doubtnut.com/l/_PIuGyBKNSgWT


A. 156

B. 156.2

C. 156.25

D. 

Answer: A

Watch Video Solution

1.562 × 102

16. The correct answer upto required number of

significant figures of 0.083 x 10.1 is :

A. 0.8383

B. 0.84

https://dl.doubtnut.com/l/_PIuGyBKNSgWT
https://dl.doubtnut.com/l/_NxEi3GWZYgFg


C. 0.83

D. 0.083

Answer: B

Watch Video Solution

17. The correct number of significant figures in the answer

of 0.00383 -0.00303 is :

A. two

B. five

C. one

D. four

https://dl.doubtnut.com/l/_NxEi3GWZYgFg
https://dl.doubtnut.com/l/_IFTiZfRY1q2x


Answer: A

Watch Video Solution

18. The correct answer upto appropriate number of

significant figures for 50.0 x 0.0160 + 19 is:

A. 19.8

B. 19

C. 20.

D. 

Answer: C

Watch Video Solution

20.0

https://dl.doubtnut.com/l/_IFTiZfRY1q2x
https://dl.doubtnut.com/l/_mTFmg6Cvp97c


19. Perform the following calculations and calculate the

answer to the proper number of significant figures :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

144.3m2 + (2.54mx8.4m)

165.336m2

165m2

165.3m2

165.34m2

https://dl.doubtnut.com/l/_mTFmg6Cvp97c
https://dl.doubtnut.com/l/_KGHHGa7IuFHh


20. 81.4 g sample of ethyl alcohol contains 0.002 g of

water. The amount of pure ethyl alcohol (to proper

number of significant figures) is :

A. 81.398 g

B. 81.40 g

C. 81.4 g

D. 81 g

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_pDM3pMlDHYWC


21. The result of  will contain the

significant figures equal to

A. three

B. four

C. two

D. seven

Answer: A

Watch Video Solution

2.36 × 0.07251

2.103

22. The number of significant figures in  are:π

https://dl.doubtnut.com/l/_4ae3aRPwyyC2
https://dl.doubtnut.com/l/_wVKIB1hvUoFM


A. three

B. Infinite number

C. zero

D. one

Answer: B

Watch Video Solution

23. The correct answer upto proper number of significant

digits :  is :

A. 6.20 km

B. 28.7 m

(2.50x10− 2km) + (3.7 × 102cm)

https://dl.doubtnut.com/l/_wVKIB1hvUoFM
https://dl.doubtnut.com/l/_gGMSUDLPKe3c


C. 49.50 cm

D. cannot be calculated

Answer: B

Watch Video Solution

24. The number of significant zeros in 0.001010 is :

A. two

B. three

C. four

D. one

Answer: A

https://dl.doubtnut.com/l/_gGMSUDLPKe3c
https://dl.doubtnut.com/l/_rQO80XPfjz79


Watch Video Solution

25. Which of the following has largest number of

significant figures?

A. 11.309

B. 1.00004

C. 615

D. 9.035

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_rQO80XPfjz79
https://dl.doubtnut.com/l/_wdB3ABY6Amsz


26. The number of significant figures in 

is :

A. one

B. two

C. three

D. four

Answer: B

Watch Video Solution

(0.04)2 + (0.25)2

27. The height of a boy who is 5 feet and 9 inches may be

written with three significant figures as (1 inch = 2.54 cm)

https://dl.doubtnut.com/l/_GY6ucW5SLYOb
https://dl.doubtnut.com/l/_HdmS1sJF30KU


A. 175.3 cm

B. 175.26 cm

C. 

D. 

Answer: A

Watch Video Solution

0.1753 × 103cm

1.75 × 102cm

28. The radius of a hydrogen atom is  m and

the radius of a proton at the centre is  m. The

ratio of the radius of the atom to the radius of proton is :

A. 

5.32 × 10− 11

1.5 × 10− 5

3.5 × 10− 6

https://dl.doubtnut.com/l/_HdmS1sJF30KU
https://dl.doubtnut.com/l/_4Vu84YllMiC1


B. 

C. 

D. 

Answer: A

Watch Video Solution

3.54 × 10− 6

3.55 × 10− 6

4 × 10− 6

29. Candela is S.I. unit of

A. Electric current

B. Energy

C. Luminous Intensity

D. Stress

https://dl.doubtnut.com/l/_4Vu84YllMiC1
https://dl.doubtnut.com/l/_H9OLFe5Oh180


Answer: C

Watch Video Solution

30. The S.I. unit of pressure is :

A. Torr

B. Atmosphere

C. Pascal

D. Dynes per square metre

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_H9OLFe5Oh180
https://dl.doubtnut.com/l/_V8H8gACy3bar
https://dl.doubtnut.com/l/_b9PdGDKjhOJA


31. The prefix femto stands for

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

109

10− 12

10− 15

105

32. The multiple  has the prefix :

A. peta

B. pico

1012

https://dl.doubtnut.com/l/_b9PdGDKjhOJA
https://dl.doubtnut.com/l/_ixnn7IC0bsdH


C. giga

D. tera

Answer: D

Watch Video Solution

33. How many times is a kg heavier than a mg?

A. 

B. 

C. 

D. 

Answer: C

103

105

106

109

https://dl.doubtnut.com/l/_ixnn7IC0bsdH
https://dl.doubtnut.com/l/_vyFikeWazovv


Watch Video Solution

34.  is the unit of:

A. Momentum

B. Velocity

C. Pressure

D. Acceleration

Answer: D

Watch Video Solution

Nkg − 1

https://dl.doubtnut.com/l/_vyFikeWazovv
https://dl.doubtnut.com/l/_l6NjsJuWjzS9


35. The density of vanadium is  . Its density in

SI units of  is

A. 59.6

B. 

C. 596

D. 5960

Answer: D

Watch Video Solution

5.968cm − 3

kgm − 3

5.96 × 104

36. The average weight of an Indian male is 150 pounds. In

SI units it is equal to

https://dl.doubtnut.com/l/_9q3csqMAN4VD
https://dl.doubtnut.com/l/_lnOE7JDQjMKP


A. 68.1 kg

B. 75.0 kg

C. 45.4 kg

D. 72.0 kg

Answer: A

Watch Video Solution

37. The law of multiple proportion may be illustrated by

A. KBr, KI

B. 

C. 

H2O, D2O

CO, CO2

https://dl.doubtnut.com/l/_lnOE7JDQjMKP
https://dl.doubtnut.com/l/_Z4txT7neZsyw


D. 

Answer: B

Watch Video Solution

CaO, CaCO3

38. Which of the following is not a mixture ?

A. gasoline

B. liquid petroleum gas

C. distilled water

D. iodized table salt

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Z4txT7neZsyw
https://dl.doubtnut.com/l/_NLJuBjnJQ5Fq


39. Nitrogen forms five stable oxides having formulae

 . The formation of

these oxides explains the

A. law of definite proportion

B. law of multiple proportion

C. law of reciprocal proportion

D. law of conservation of mass

Answer: C

Watch Video Solution

N2O, NO, N2O3, N2O4 and N2O5

https://dl.doubtnut.com/l/_NLJuBjnJQ5Fq
https://dl.doubtnut.com/l/_igN8XuzHM2Fn


40. Equal volumes of different gases at a fixed

temperature and pressure :

A. have equal weights

B. equal masses

C. equal densities

D. equal number of moles

Answer: A

Watch Video Solution

41. Water and hydrogen peroxide illustrate the law of:

https://dl.doubtnut.com/l/_Vev65PW1HyWt
https://dl.doubtnut.com/l/_z1vQJztV59UV


A. reciprocal proportion

B. multiple proportion

C. constant propotion

D. definite composition

Answer: A

Watch Video Solution

42. The percentage of silver and chlorine in two samples

of silver chloride prepared by heating silver foil in the

current of chlorine and by the intercation of silver nitrate

and hydrochloric acid were found to be identical . This

illusrates the law of :

https://dl.doubtnut.com/l/_z1vQJztV59UV
https://dl.doubtnut.com/l/_fsXSRNFbJijY


A. conservation of mass

B. constant proportion

C. multiple proportion

D. reciprocal proportion

Answer: C

Watch Video Solution

43. Which of the following represents Avogadro's

hypothesis ?

A. Gases react together in volumes which bear a

simple ratio to one another

https://dl.doubtnut.com/l/_fsXSRNFbJijY
https://dl.doubtnut.com/l/_JFXxEisSQLaU


B. One mole of all gases occupies 22.4 L at N.T.P.

C. Equal volumes of all gases under the same

conditions of temperature and pressure contain

equal number of atoms.

D. Equal volumes of all gases under the same

conditions of temperature and pressure contain

equal number of molecules

Answer: A

Watch Video Solution

44. a' grams of element A combine with 'b' grams of

element B. 'b' element C. if elements A and C combine , the

https://dl.doubtnut.com/l/_JFXxEisSQLaU
https://dl.doubtnut.com/l/_01nQKLmqB2On


probable ratio in which their weights combine together

could be

A. 2a:b

B. a:c

C. 2b:a

D. 2b:c

Answer: B

Watch Video Solution

45. A sample of  has Ca = 40%, C = 12% and O =

48%. If the law of constant proportion is true then the

CaCO3

https://dl.doubtnut.com/l/_01nQKLmqB2On
https://dl.doubtnut.com/l/_KSLQ4UkAAIIF


weight of calcium in 5 g of a sample of  from

another source will be

A. 0.20 g

B. 2.0 g

C. 2.5 g

D. 4.0 g

Answer: B

Watch Video Solution

CaCO3

46. One gram mole of a gas at N.T.P. occupies 22.4 litres.

This fact was derived from :

https://dl.doubtnut.com/l/_KSLQ4UkAAIIF
https://dl.doubtnut.com/l/_8eedB28pMW4E


A. Law of gaseous volumes

B. Avogadro's hypothesis

C. Berzelius hypothesis

D. Dalton's atomic theory

Answer: B

Watch Video Solution

47. Two elements X and Y have atomic masses 14 and 16

respectively. They can form a series of five compounds A,

B, C, D and E in which for the same amount of X, Y is

present in the ratio of 1:2:3:4:5. If the compound A has 28

parts by weight of X and 16 parts by weight of Y, then

https://dl.doubtnut.com/l/_8eedB28pMW4E
https://dl.doubtnut.com/l/_rgNsQlIW2ajw


compound C will have 24 parts by weight of Y combined

with

A. 28 parts by weight of X

B. 14 parts by weight of X

C. 8 parts by weight of X

D. 4.1 parts by weight of X

Answer: B

Watch Video Solution

48. Two elements X (atomic weight = 75) and Y (atomic

weight = 16) combine to give a compound having 75.8% of

X. The compound is :

https://dl.doubtnut.com/l/_rgNsQlIW2ajw
https://dl.doubtnut.com/l/_gvKOPmgSzGry


A. XY

B. 

C. 

D. 

Answer: D

Watch Video Solution

X2Y

X2Y2

X2Y3

49. One a.m.u. stands for

A. an atom of carbon 

B. 1/12th of a carbon atom 

C. 1/12th of a H-atom.

(C 12)

(C 12)

https://dl.doubtnut.com/l/_gvKOPmgSzGry
https://dl.doubtnut.com/l/_DfRiu7uB9Nxp


D. 1 atom of all atoms

Answer: B

Watch Video Solution

50. Volume of a gas at STP is  .The

number of molecules present in it is

A. 

B. 

C. 

D. 

Answer: C

1.12 × 10− 7cm3

3.01 × 108

3.01 × 1022

3.01 × 1011

3.01 × 1012

https://dl.doubtnut.com/l/_DfRiu7uB9Nxp
https://dl.doubtnut.com/l/_a4c9KPmJk2HL


Watch Video Solution

51. How many times an atom of sulphur is heavier than an

atom of carbon ?

A. 32 times

B. 12 times

C. 8/3 times

D. 12/32 times

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_a4c9KPmJk2HL
https://dl.doubtnut.com/l/_7rmePPlt1HZp


52. The ratio of mass of 1 mole of sodium and  atoms

of sodium is :

A. 6.02

B. 23

C. 

D. 

Answer: A

Watch Video Solution

1023

23

6.02

23 × 6.02

53. 1/12 of the gram atom of carbon

https://dl.doubtnut.com/l/_vDv0ZLLo8uYg
https://dl.doubtnut.com/l/_Tj5yq99RJcnH


A. contains 1 atom of carbon

B. contains the same number of carbon atoms as are

present in 2.5 grams of glucose 

C. contains Avogardo number of carbon atoms

D. corresponds to 1 a.m.u.

Answer: B

Watch Video Solution

(C6H12O6)

54. The number of moles in 0.64 g of  is :

A. 100

B. 10

SO2

https://dl.doubtnut.com/l/_Tj5yq99RJcnH
https://dl.doubtnut.com/l/_CKMY5T2vpSAv


C. 0.1

D. 0.01

Answer: D

Watch Video Solution

55. The mass of an atom of carbon is :

A. 1g

B. 1/12 g

C. 

D. 

Answer: C

1.99 × 10− 23g

1.99 × 1023g

https://dl.doubtnut.com/l/_CKMY5T2vpSAv
https://dl.doubtnut.com/l/_oHTEVWNsr85E


Watch Video Solution

56. The volume occupied by 0.2 mole of methane at N.T.P.

is :

A. 4.48 L

B. 8.96 L

C. 4.4 L

D. 2.24 L

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_oHTEVWNsr85E
https://dl.doubtnut.com/l/_qgWCXFsojSiV


57. Which of the following weighs the least ?

A. 2 gram atoms of N

B.  atoms of C

C. 20 g of 

D. 1 mole of 

Answer: B

Watch Video Solution

3 × 1023

CO2

SO2

58. The number of  molecules in 16 g of ozone is

approximately.

O3

https://dl.doubtnut.com/l/_J6xfdkMtm7oE
https://dl.doubtnut.com/l/_qVfRWUKhXqGe


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2 × 1023

3 × 1023

4 × 1023

6 × 1023

59. The total number of atoms present in 0.1 mole of

sucrose  is :

A. 

B. 

(C12H22O11)

6.02 × 1022

2.7 × 1024

https://dl.doubtnut.com/l/_qVfRWUKhXqGe
https://dl.doubtnut.com/l/_HFut7eAfz4dM


C. 

D. 

Answer: B

Watch Video Solution

6.02 × 1024

2.7 × 1025

60. The number of gram atoms of oxygen present in 0.25

g mole of  is :

A. 0.125

B. 0.5

C. 1

D. 1.5

(COOH)22H2O

https://dl.doubtnut.com/l/_HFut7eAfz4dM
https://dl.doubtnut.com/l/_VCU3TKtGGiwt


Answer: D

Watch Video Solution

61. Which of the following has maximum number of

molecules ?

A. 1 g of 

B. 1 g of 

C. 1 g of 

D. 1g of 

Answer: C

Watch Video Solution

CO2

N2

H2

CH4

https://dl.doubtnut.com/l/_VCU3TKtGGiwt
https://dl.doubtnut.com/l/_9WrYlogs4hh2


62. Which of the following weighs the maximum ?

A. 2.24 L of  at N.T.P.

B.  molecules of 

C.  atoms of carbon

D. 10 g of carbon

Answer: B

Watch Video Solution

CO2

6.02 × 1023 CO2

6.02 × 1023

63. The mass of one molecule of oxygen is:

A. 32 g

https://dl.doubtnut.com/l/_9WrYlogs4hh2
https://dl.doubtnut.com/l/_EnQHWscGKasJ
https://dl.doubtnut.com/l/_b6YBGaMkx299


B. 

C. 

D. 

Answer: B

Watch Video Solution

32/6.02 × 1023g

16/6.02 × 1023

0.32g

64. The number of atoms present in 1 g of hydrogen gas is

the same as are present in

A. 0.4 g of He

B. 22 g of 

C. 6 g of 

CO2

H2O

https://dl.doubtnut.com/l/_b6YBGaMkx299
https://dl.doubtnut.com/l/_Rj4LimMZpvA8


D. 12 g of C

Answer: C

Watch Video Solution

65. The number of molecules in 4.25 g of ammonia are

approximately

A. 

B. 

C. 

D. 

Answer: B

0.5 × 1023

1.5 × 1023

2.5 × 1023

3.5 × 1023

https://dl.doubtnut.com/l/_Rj4LimMZpvA8
https://dl.doubtnut.com/l/_MVoEIVlcJzqo


Watch Video Solution

66. The number of atoms in 0.004 g of magnesium is close

to (atomic mass of Mg = 24)

A. 24

B. 

C. 

D. 

Answer: C

Watch Video Solution

2 × 1020

1020

6.02 × 1023

https://dl.doubtnut.com/l/_MVoEIVlcJzqo
https://dl.doubtnut.com/l/_uqByDn0vmzAZ


67. One mole of  corresponds to :

A. 22.4 L at 1 atm and 

B. 44g

C. 1g of carbon dioxide.

D.  C-atoms and  O atoms

Answer: B

Watch Video Solution

CO2

25∘ C

6.02 × 1023 6.02 × 1023

68. Which of the following has maximum mass ?

A. 25 gram of iodine

https://dl.doubtnut.com/l/_7zYUuWwAyczt
https://dl.doubtnut.com/l/_GDDUtSOHFgUH


B. 2.5 gram atom of oxygen gas

C. 2.5 gram mole of water

D. 2.5 gram mole of nitrogen gas

Answer: D

Watch Video Solution

69. How many molecules of sulphur are present in 12.8 g

of sulphur (atomic mass of S = 32) ?

A. 

B. 

C. 

3.01 × 1022

2.408 × 1023

6.02 × 1023

https://dl.doubtnut.com/l/_GDDUtSOHFgUH
https://dl.doubtnut.com/l/_FDLZNIPie7vh


D. 

Answer: A

Watch Video Solution

0.4

70. One gram is more than

A. 0.1 mol of 

B. mass of  molecules of water

C. mass of 2.24 L of hydrogen gas at N.T.P.

D. 0.1 gram atom of carbon

Answer: C

Watch Video Solution

CO2

6.02 × 1022

https://dl.doubtnut.com/l/_FDLZNIPie7vh
https://dl.doubtnut.com/l/_Ju0V60VCj7rT


71. The number of atoms of oxygen present in 11.2 L of

ozone at N.T.P. are :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3.01 × 1023

6.02 × 1023

9.03 × 1023

1.20 × 1024

https://dl.doubtnut.com/l/_Ju0V60VCj7rT
https://dl.doubtnut.com/l/_s2cxb8fU8KZY


72. How many moles of helium gas occupy 22.4L at 

and 1 atm pressure ?

A. 0.11

B. 0.9

C. 1

D. 1.11

Answer: C

Watch Video Solution

O ∘ C

73. The number of gram molecules of oxygen in

 CO molecules is :6.02 × 1024

https://dl.doubtnut.com/l/_eR9nZl1yp5sG
https://dl.doubtnut.com/l/_hdcSBvVMzxHS


A. 10 gram molecules

B. 5 gram molecules

C. 1 gram molecule

D. 0.5 gram molecule

Answer: B

Watch Video Solution

74. How many formula units are there in a 42 g sample of

 (formula wt.=252g) ?

A. 

B. 

(NH4)2Cr2O7

7.0 × 1023

1.0 × 1023

https://dl.doubtnut.com/l/_hdcSBvVMzxHS
https://dl.doubtnut.com/l/_ldGsL9soXMcW


C. 

D. 

Answer: B

Watch Video Solution

6.0 × 1023

1.4 × 1022

75. A sample of  contains  ions. The

number of formula units of this sample is :

A. 

B. 

C. 

D. 

AlF3 3.0 × 1024F −

2.0 × 1024

1.0 × 1024

5 × 1023

9.0 × 1024

https://dl.doubtnut.com/l/_ldGsL9soXMcW
https://dl.doubtnut.com/l/_3EG5S3dSc6Ha


Answer: B

Watch Video Solution

76. Which of the following has the smallest number of

molecules ?

A. 0.1 mole of  gas

B. 11.2 L of  gas

C. 22 g of  gas

D.  ml of  gas

Answer: A

Watch Video Solution

CO2

CO2

CO2

22.4 × 103 CO2

https://dl.doubtnut.com/l/_3EG5S3dSc6Ha
https://dl.doubtnut.com/l/_edPr4VXfc8xE


77. One mole of  contains

A.  atoms of C

B.  atoms of O

C.  molecules of 

D. 3 g atoms of 

Answer: A

Watch Video Solution

CO2

6.02 × 1023

6.02 × 1023

18.1 × 1023 CO2

CO2

78. Which of the following weighs the least?

A. 24 g of magnesium

https://dl.doubtnut.com/l/_edPr4VXfc8xE
https://dl.doubtnut.com/l/_9g5Jn06H955Y
https://dl.doubtnut.com/l/_1lbXrvllAPVd


B. 0.9 mole of nitric oxide

C. 22.4 L of

D.  molecules of oxygen

Answer: A

Watch Video Solution

N2

6.02 × 1024

79. The number of molecules in 89.6 L of a gas at  and

1 atm pressure is :

A. 

B. 

C. 

0∘ C

6.02 × 1023

12.04 × 1023

18.06 × 1023

https://dl.doubtnut.com/l/_1lbXrvllAPVd
https://dl.doubtnut.com/l/_tZU2AWbLQZwm


D. 

Answer: D

Watch Video Solution

24.08 × 1023

80. The volume occupied by 2.2 g of  at N.T.P. is :

A. 22.4L

B. 1.12 L

C. 5.6 L

D. 2.24 L

Answer: B

Watch Video Solution

CO2

https://dl.doubtnut.com/l/_tZU2AWbLQZwm
https://dl.doubtnut.com/l/_taV0MsyITzyl


81. The largest number of molecules is in:

A. 36 g of water

B. 28 g of 

C. 46 g of 

D. 54 g of 

Answer: A

Watch Video Solution

CO2

CH3OH

N2O5

82. Which of the following has maximum number of

molecules ?

https://dl.doubtnut.com/l/_taV0MsyITzyl
https://dl.doubtnut.com/l/_sFfjoVacz6ug
https://dl.doubtnut.com/l/_vOd0IfjhcAKW


A. 5 L of  gas at STP

B. 0.5 g of  gas

C. 10 g of  gas

D. 15 L of  gas at STP

Answer: D

Watch Video Solution

N2

H2

O2

H2

83. The number of atoms in 0.1 mol of a triatomic gas is :

A. 

B. 

(NA = 6.02 × 1023mol − 1)

3.600 × 1023

1.800 × 1022

https://dl.doubtnut.com/l/_vOd0IfjhcAKW
https://dl.doubtnut.com/l/_6q8DlnrCWAiG


C. 

D. 

Answer: D

Watch Video Solution

6.02 × 1022

1.806 × 1023

84. A phosphorus oxide has 43.6% phosphorus (at.

mass=31). The empirical formula of the compound is :

A. 

B. 

C. 

D. 

P2O5

P2O3

P4O6

PO2

https://dl.doubtnut.com/l/_6q8DlnrCWAiG
https://dl.doubtnut.com/l/_cGSrH4lgp68b


Answer: A

Watch Video Solution

85. The simplest formula of a compound containing 50%

of element X (at. mass 10) and 50% of element Y (at. mass

20) is :

A. 

B. 

C. 

D. 

Answer: A

W t h Vid S l ti

X2Y

XY2

X2Y3

XY

https://dl.doubtnut.com/l/_cGSrH4lgp68b
https://dl.doubtnut.com/l/_f3C2MfeXMkid


Watch Video Solution

86. A compound made up of two elements A and B is

found to contain 25% A (at. mass = 12.5) and 75% B (at.

mass = 37.5). The simplest formula of the compound is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

AB

AB2

AB3

A3B2

https://dl.doubtnut.com/l/_f3C2MfeXMkid
https://dl.doubtnut.com/l/_2W8ujlUGgPmc


87. The simplest formula of a compound containing 32.5%

K, 0.839% H, 26.7% S and 39.9% O is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

KHSO4

KHSO3

K2SO4. 2H2O

KHSO2

88. A hydrocarbon is composed of 75% carbon. The

empirical formula of the compound is

https://dl.doubtnut.com/l/_gViWldxyBRAP
https://dl.doubtnut.com/l/_LvwyBiY8J4uU


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH2

CH3

C2H5

CH4

89. How many moles of NaOH are present in 27mL of 0.015

M NaOH ?

A. 

B. 

4.05 × 10− 3

4.05 × 10− 4

https://dl.doubtnut.com/l/_LvwyBiY8J4uU
https://dl.doubtnut.com/l/_zzrPC9YMhl0M


C. 

D. 

Answer: B

Watch Video Solution

4.05

0.0405

90. Commercially available concentrated HCI contains

38.0% HCl by mass (density = 1.19  ). The molarity

of the solution is

A. 10.40 M

B. 5.70 M

C. 12.38 M

gmL− 1

https://dl.doubtnut.com/l/_zzrPC9YMhl0M
https://dl.doubtnut.com/l/_1CtLut1tv3vU


D. 13.46 M

Answer: C

Watch Video Solution

91. 4L of water is added to 2L of 6M HCl. The molarity of

the final solution is

A. 4M

B. 2M

C. 1M

D. 0.5M

Answer: B

https://dl.doubtnut.com/l/_1CtLut1tv3vU
https://dl.doubtnut.com/l/_kX3nckgdRG4t


Watch Video Solution

92. 0.38 g sample of  is dissolved in 250 ml flask.

The molarity of the solution is

A. 0.018 M

B. 0.095 M

C. 0.260 M

D. 0.016 M

Answer: A

Watch Video Solution

NaNO3

https://dl.doubtnut.com/l/_kX3nckgdRG4t
https://dl.doubtnut.com/l/_4GUdV233oYk9


93. The molarity of 98%  (d = 1.8 g/mL) by weight is

A. 6 M

B. 18 M

C. 10 M

D. 4 M

Answer: B

Watch Video Solution

H2SO4

94. The molarity of a solution obtained by mixing 800 mL

of 0.5 M HCl with 200 mL of 1 M HCI will be

https://dl.doubtnut.com/l/_kEXoDAvAdRoC
https://dl.doubtnut.com/l/_5sDStJiUJyWb


A. 0.8 M

B. 0.6 M

C. 0.4 M

D. 0.2 M

Answer: B

Watch Video Solution

95. Which of the following concentration terms is/are

independent of temperature ?

A. Molality only

B. Molality and mole fraction

https://dl.doubtnut.com/l/_5sDStJiUJyWb
https://dl.doubtnut.com/l/_zd36AXO7MbEZ


Multiple Choice Question Level Ii

C. Molarity and mole fraction

D. Molality and normality.

Answer: B

Watch Video Solution

1. Five thousand with three significant figures is written

as:

A. 5000

B. 5.0 × 103

https://dl.doubtnut.com/l/_zd36AXO7MbEZ
https://dl.doubtnut.com/l/_cIbQQv2TAmcp


C. 

D. 0.50 x 10^4`

Answer: C

Watch Video Solution

5.00 × 103

2. Express decimal equivalent of 1/60 to three significant

figures.

A. 0.0167

B. 0.01666

C. 0.0166

D. 1.7 × 102

https://dl.doubtnut.com/l/_cIbQQv2TAmcp
https://dl.doubtnut.com/l/_iYcRElLNf8BN


Answer: A

Watch Video Solution

3. The mass of a piece of paper is 0.02 g and the mass of a

solid substance and the piece of paper is 20.036 g. If the

volume of the solid is  , calculate its density to

the proper number of significant digits.

A. 

B. 

C. 

D. 

Answer: A

2.16cm3

9.27gcm − 3

9.3gcm − 3

9.267gcm − 3

43.24gcm − 3

https://dl.doubtnut.com/l/_iYcRElLNf8BN
https://dl.doubtnut.com/l/_kDeafzc1nY0s


Watch Video Solution

4. Two samples were weighed using different balances 

(i) 3.529 g (ii) 0.40 g 

How would the total weight of the sample be reported ?

A. 3.929 g

B. 3g

C. 3.9g

D. 3.93 g

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_kDeafzc1nY0s
https://dl.doubtnut.com/l/_O7fZIirYc9SX
https://dl.doubtnut.com/l/_X9sDwIOHMRRo


5. Which of the following is not a compound ?

A. petrol

B. honey

C. steam

D. air

Answer: C

Watch Video Solution

6. Which of the following statements is not correct?

https://dl.doubtnut.com/l/_X9sDwIOHMRRo
https://dl.doubtnut.com/l/_y4Rgbn3LtvAL


A. One mole of carbon and 1/3 mole of carbon dioxide

contain the same number of atoms.

B. One mole of  and one mole of  contain the

same number of atoms.

C. One mole of  occupies more volume than one

mole of CO at N.T.P

D. One mole of carbon is  times heavier

than an atom of carbon

Answer: C

Watch Video Solution

NH3 BF3

CO2

6.02 × 1023

https://dl.doubtnut.com/l/_y4Rgbn3LtvAL


7. 1.0 g of an oxide of metal M contained 0.5 g of M and

4.0 g of another oxide of M contained 1.6 g of M. These

data illustrate the

A. Law of reciprocal proportion

B. Law of conservation of mass

C. Law of constant proportion

D. Law of multiple proportion

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_rPDw7LyXRKfN


8. The molar masses of oxygen and sulphur dioxide are 32

and 64 respectively. If 1 L of oxygen at  and 750 mm

Hg pressure contains N molecules, then the number of

molecules in 2 L sulphur dioxide under the same

conditions of temperature and pressure is :

A. N/2

B. 3N/2

C. 2N

D. 6N

Answer: C

Watch Video Solution

25∘ C

https://dl.doubtnut.com/l/_Etg0u42WD9FG
https://dl.doubtnut.com/l/_bEQC1JUNZuJt


9. Which of the following has largest number of atoms?

A. 0.5 g atom of Cu

B. 0.635 g of Cu

C. 0.25 moles of Cu-atom

D. 1 g of Cu

Answer: A

Watch Video Solution

10. Which of the following has maximum number of

molecules ?

A. 1 mole of  gasH2O

https://dl.doubtnut.com/l/_bEQC1JUNZuJt
https://dl.doubtnut.com/l/_AMd8Nel0nuqH


B. 32 g of CO

C. 2.24 L of  at N.T.P.

D. 22 g of

Answer: B

Watch Video Solution

N2

CO2

11. Two flasks A and B of equal volume contain 2 g of 

and 2 g of  respectively at the same temperature and

pressure. The number of molecules in flask A is :

A. same as the number of molecules in flask B

B. half the number of molecules in flask B

H2

N2

https://dl.doubtnut.com/l/_AMd8Nel0nuqH
https://dl.doubtnut.com/l/_e3khftQnoxow


C. 7 times the number of molecules in flask B

D. 14 times the number of molecules in flask B

Answer: D

Watch Video Solution

12. 2.24 L of  at N.T.P. contain same number of

molecules as are present in

A. 8.8 g of 

B. 1.7 g of ammonia 

C. 64 g of 

D. 3.2 g of methane 

N2

CO2

(NH3)

SO2

(CH4)

https://dl.doubtnut.com/l/_e3khftQnoxow
https://dl.doubtnut.com/l/_8ZPMYlCIfYnq


Answer: B

Watch Video Solution

13. The number of water molecules present in a drop of

water weighing 0.018g is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

6.02 × 1026

6.02 × 1023

6.02 × 1020

6.02 × 1019

https://dl.doubtnut.com/l/_8ZPMYlCIfYnq
https://dl.doubtnut.com/l/_PJmg0wy7fA5m


14. The number of silver atoms present in a 90% pure

silver wire weighing 10 g is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

5.57 × 1022

0.62 × 1023

5.0 × 1022

6.2 × 1029

15. A given sample of  contains 

ions. The moles of  ions are :

AlCl3 6.02 × 1020Al3 +

Cl− 1

https://dl.doubtnut.com/l/_PJmg0wy7fA5m
https://dl.doubtnut.com/l/_cwHWDlTqPU2i
https://dl.doubtnut.com/l/_vNOxxh2vzbsY


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1.0 × 10− 3

3.0 × 10− 3

3.0 × 103

0.33 × 10− 3

16. What weight of  will contain same number of

oxygen atoms as are present in 3.6 g of water ?

A. 8.8 g

B. 7.2 g

CO2

https://dl.doubtnut.com/l/_vNOxxh2vzbsY
https://dl.doubtnut.com/l/_CDws9feJEDDa


C. 4.4 g

D. 220 g

Answer: C

Watch Video Solution

17. The number of atoms in 52 u of He is:

A. 

B. 

C. 

D. 

Answer: D

3.1 × 1025

7.8 × 1023

13

103

https://dl.doubtnut.com/l/_CDws9feJEDDa
https://dl.doubtnut.com/l/_GfhtZ6hCSxjx


Watch Video Solution

18. If one atom of hydrogen weighs  g, then

mass of one atom of carbon weighs

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1.65 × 10− 24

1.98 × 10− 23g

1.65 × 10− 24g

1.37 × 10− 25g

1.40 × 10− 23g

https://dl.doubtnut.com/l/_GfhtZ6hCSxjx
https://dl.doubtnut.com/l/_KYdeZZrcrGN1


19. The volume of one molecule of water is (density of

water =  ) about

A. 

B. 

C. 

D. 1mL

Answer: A

Watch Video Solution

1gml− 1

3.0 × 10− 23mL

6.02 × 1023mL

1.0 × 10− 24mL

20. One mole of hydrogen peroxide  has a mass

same as that of

(H2O2)

https://dl.doubtnut.com/l/_hQkEOKHT7kyn
https://dl.doubtnut.com/l/_LyfjcgPWFdQl


A. 0.1 mol of sucrose 

B. 2.0 mol of ammonia

C. 11.2 L of  at N.T.P.

D. 0.1 mol of 

Answer: B

Watch Video Solution

(C12H22O11)

SO2

SO3

21. 19.7 kg of gold was recovered from a smuggler. How

many atoms of gold were recovered ? (Au = 197).

A. 100

B. 6.02 × 1023

https://dl.doubtnut.com/l/_LyfjcgPWFdQl
https://dl.doubtnut.com/l/_i1QH5h4l68qJ


C. 

D. 

Answer: D

Watch Video Solution

6.02 × 1024

6.02 × 1025

22. A gaseous mixture contains oxygen and nitrogen in

the ratio of 1:4 by weight. Therefore, the ratio of their

number of molecules is

A. 

B. 

C. 

1: 4

1: 8

7: 32

https://dl.doubtnut.com/l/_i1QH5h4l68qJ
https://dl.doubtnut.com/l/_riJ0KwNPdeRe


D. 

Answer: C

Watch Video Solution

3: 16

23. 0.5 mol of  is mixed with 0.2 mol of  .

The maximum number of mol of  that can be

formed is :

A. 0.7

B. 0.5

C. 0.3

D. 0.1

BaCl2 Na3PO4

Ba3(PO4)2

https://dl.doubtnut.com/l/_riJ0KwNPdeRe
https://dl.doubtnut.com/l/_UMD6fUX7P94M


Answer: D

Watch Video Solution

24. 4.0 grams of caustic soda contain

A.  atoms of H

B. 4 gram atoms of Na

C.  atoms of Na

D. 4 moles of NaOH

Answer: C

Watch Video Solution

6.02 × 1023

6.02 × 1022

https://dl.doubtnut.com/l/_UMD6fUX7P94M
https://dl.doubtnut.com/l/_J9DSx9mIpe7o
https://dl.doubtnut.com/l/_jatfRPsxU4ix


25. One litre of a gas at S.T.P. weighs 1.16 g. It can possibly

be

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

C2H2

CO

O2

CH4

26. 12 g of magnesium (atomic mass 24) on reacting

completely with acid gives hydrogen gas, the volume of

which at N.T.P. would be

https://dl.doubtnut.com/l/_jatfRPsxU4ix
https://dl.doubtnut.com/l/_lXjx0RDI0Oey


A. 22.4 L

B. 11.2 L

C. 44.8 L

D. 6.1 L

Answer: B

Watch Video Solution

27. If 224 ml of a triatomic gas has a mass of 1 g at N.T.P.,

then the mass of one atom is :

A. 

B. 

9.3 × 10− 23g

2.08 × 10− 23g

https://dl.doubtnut.com/l/_lXjx0RDI0Oey
https://dl.doubtnut.com/l/_fUeKVCmG1vln


C. 

D. 

Answer: C

Watch Video Solution

5.53 × 10− 23g

9.62 × 10− 23g

28. In the final answer of the expression

 the number of significant

figures is :

A. 1

B. 2

C. 3

(29.2 − 20.2)(1.79 × 105)

1.37

https://dl.doubtnut.com/l/_fUeKVCmG1vln
https://dl.doubtnut.com/l/_VkPaU6NladbF


D. 4

Answer: B

Watch Video Solution

29. If 20.0 g of  is treated with 200 g of HCI, how

many grams of  can be obtained according to the

following reaction : 

A. 8.80 g

B. 27.4 g

C. 4.20 g

D. 13.7 g

CaCO3

CO2

CaCO3(s) + 2HCl(aq) → CaCl2(aq) + H2O(l) + CO2(g)

https://dl.doubtnut.com/l/_VkPaU6NladbF
https://dl.doubtnut.com/l/_0f6iHTZvlLag


Answer: A

Watch Video Solution

30. The thickness of Milky way Galaxy is 40 Em. It can be

expressed in metres as

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

4.0 × 1019m

4.0 × 1015m

4.0 × 1018m

4.0 × 1012m

https://dl.doubtnut.com/l/_0f6iHTZvlLag
https://dl.doubtnut.com/l/_7JhffCxtLd1v


31. The mass of an Al block (in grams) whose dimensions

are 2.0 inch x 3.0 inch x 4.0 inch having density

 is

A. 64.8 g

B. 8.9 g

C. 

D. 

Answer: C

Watch Video Solution

2.78gcm − 3

1.1 × 103g

1.1 × 105g

https://dl.doubtnut.com/l/_7JhffCxtLd1v
https://dl.doubtnut.com/l/_ngElJXfeufrd


32. The volume of  produced at S.T.P. by the

combustion of 50 g of sulphur containing 4% sand by

weight will be

A. 33.6 L

B. 22.4L

C. 11.2 L

D. 44.8 L

Answer: A

Watch Video Solution

SO2

https://dl.doubtnut.com/l/_17trjgJAEkD7


33. What is the number of potassium atoms required to

prepare 1 equivalent of  ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

KMnO4

6.02 × 1023

3.01 × 1024

1.204 × 1023

1

34. The total number of valence electrons in 4.2 g of 

ions is (  is the Avogadro number):

N −
3

NA

https://dl.doubtnut.com/l/_c39Up4v1dQYc
https://dl.doubtnut.com/l/_MMs1k2bakggg


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1.6NA

3.2NA

2.1NA

4.2NA

35. If 22.4 ml of a triatomic gas has a mass of 0.048 g at

273K and 1 atm pressure, then the mass of one atom is:

A. 

B. 

7.9 × 10− 23g

2.6 × 10− 23g

https://dl.doubtnut.com/l/_MMs1k2bakggg
https://dl.doubtnut.com/l/_cMaJwENpJMxx


C. 

D. 

Answer: B

Watch Video Solution

2.4 × 10− 22g

2.4 × 10− 23g

36. Two elements A (at. mass 16) and B (at. mass 14)

combine to form compounds X, Y and Z. The ratio of

different masses of B which combine with a fixed mass of

A in X, Y and Z is 1:3:5. If 32 parts by mass of A combine

with 84 parts by mass of B in X, then in Z, 16 parts by mass

of A will combine with

A. 14 parts by mass of B

https://dl.doubtnut.com/l/_cMaJwENpJMxx
https://dl.doubtnut.com/l/_77KVGjC0h4zH


B. 42 parts by mass of B

C. 70 parts by mass of B

D. 84 parts by mass of B

Answer: C

Watch Video Solution

37. One litre of an unknown gas weighs 1.25 g at NTP. The

possible formula of the gas is :

A. 

B. CO

C. 

N2

SO2

https://dl.doubtnut.com/l/_77KVGjC0h4zH
https://dl.doubtnut.com/l/_cY4adooZ1M2A


D. 

Answer: B

Watch Video Solution

O2

38. A metal M forms an alum which contains the element

potassium and is isomorphous with ordinary alum

 . If the alum of M contains

10.42% of M, then atomic weight of M is (at. mass of K= 39,

O=16, S=32 and H=1):

A. 52

B. 104

C. 156

(K2SO4. Al2(SO4)324H2O)

https://dl.doubtnut.com/l/_cY4adooZ1M2A
https://dl.doubtnut.com/l/_AHgO1fmIhLHj


D. 208

Answer: A

Watch Video Solution

39. Iron has density of  and an atomic mass of

55.85 u. The volume occupied by 1 mol of Fe is

A. 

B. 

C. 

D. 

Answer: B

7.86gcm − 3

22.8cm3mol − 1

7.11cm3mol − 1

3.64 × 1024cm3mol − 1

5.26cm3mol − 1

https://dl.doubtnut.com/l/_AHgO1fmIhLHj
https://dl.doubtnut.com/l/_yjtb0MHxDk8S


Watch Video Solution

40. A certain compound has the molecular formula 

. If 10.0 g of the compound contains 5.62 g of M, then the

atomic mass of M is

A. 62.0 u

B. 6.8 u

C. 30.8 u

D. 42 u

Answer: C

Watch Video Solution

M4O6

https://dl.doubtnut.com/l/_yjtb0MHxDk8S
https://dl.doubtnut.com/l/_94c8ix3vAMLT
https://dl.doubtnut.com/l/_t2vjugmkTKjZ


41. x L of nitrogen at N.T.P. contains  molecules.

The number of molecules in  ozone at N.T.P. will be

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3.0 × 1022

x

2

3.0 × 1022

1.5 × 1022

1.5 × 1021

1.5 × 1020

42. C-12 and C-14 isotopes are found as 98% and 2%

respectively in any sample. Number of atoms of C-14 in 12

https://dl.doubtnut.com/l/_t2vjugmkTKjZ
https://dl.doubtnut.com/l/_INq0qBKUciWD


g of sample will be

A. 1.5 mole atoms

B.  atoms

C.  atoms

D.  atoms

Answer: B

Watch Video Solution

1.03 × 1022

3.06 × 1022

3.08 × 1023

43. 142 g of chlorine represents

A. 4 mol of chlorine atoms

B. 2 g mol of chlorine

https://dl.doubtnut.com/l/_INq0qBKUciWD
https://dl.doubtnut.com/l/_HtxbNbXjRwV3


C. 2 mol of Cl atoms

D. both A and B

Answer: D

Watch Video Solution

44. 15% of oxygen is converted to ozone. The mass of

ozone that can be prepared from 67.2 L of oxygen at N.T.P.

will be

A. 14.4 g

B. 28.8 g

C. 52.0 g

https://dl.doubtnut.com/l/_HtxbNbXjRwV3
https://dl.doubtnut.com/l/_EwDh3KORrb3y


D. 64 g

Answer: A

Watch Video Solution

45. Express  to 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

4.2Lh − 2 mLs − 2

4.2 × 10− 3mLs − 2

3.2 × 10− 4mLs − 2

3.8 × 10− 4mLs − 2

4.6 × 10− 4mLs − 2

https://dl.doubtnut.com/l/_EwDh3KORrb3y
https://dl.doubtnut.com/l/_XvrUkzONf6dq


46. Mass of human DNA molecule is 1 fg. It may be

expressed in kilogram as :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1 × 10− 12kg

1 × 10− 15kg

1 × 10− 18kg

1.8 × 10− 9kg

https://dl.doubtnut.com/l/_XvrUkzONf6dq
https://dl.doubtnut.com/l/_KqPLkqQGyTqA


47. Moles of  required to oxidise Imol of 

in acidic medium is :

A. 0.6

B. 1.67

C. 0.2

D. 0.4

Answer: C

Watch Video Solution

KMnO4 FeC2O4

48. The maximum amount of  precipitated on

mixing  (aq. 0.5M) and  (aq. 1M) will

BaSO4

BaCl2 H2SO4

https://dl.doubtnut.com/l/_o7rlERP4RPU9
https://dl.doubtnut.com/l/_ixK5j4pD3SKS


correspond to:

A. 1.0M

B. 0.5 M

C. 0.25 M

D. 1.5 M

Answer: B

Watch Video Solution

49. Haemoglobin contains 0.33% of iron by weight. The

molecular mass of haemoglobin is about 67200. The

number of iron atoms (at. mass of Fe=56) present in one

molecule of haemoglobin is:

https://dl.doubtnut.com/l/_ixK5j4pD3SKS
https://dl.doubtnut.com/l/_xeDZfH3BYWGw


A. 6

B. 4

C. 2

D. 1

Answer: B

Watch Video Solution

50. The weight of a molecule of a compound  is :

A. 

B. 

C. 

C60H122

1.4 × 10− 21g

1.09 × 10− 21g

5.025 × 1023g

https://dl.doubtnut.com/l/_xeDZfH3BYWGw
https://dl.doubtnut.com/l/_h2JLgnoGGwnt


D. 

Answer: A

Watch Video Solution

16.023 × 1023g

51. What will be the volume of the mixture after the

reaction : 

A. 1.5 L

B. 0.5 L

C. 1L

D. 0L

NH3(g)(1L) + HCl(g)(1.5L) → NH4Cl(s)

https://dl.doubtnut.com/l/_h2JLgnoGGwnt
https://dl.doubtnut.com/l/_oW7sHc8QD6IY


Answer: B

Watch Video Solution

52. A compound has haemoglobin-like structure. It has

one Fe atom. It contains 4.6% of Fe. The approximate

molecular mass is

A. 

B. 

C. 

D. 

Answer: B

W t h Vid S l ti

100gmol − 1

1200gmol − 1

1400gmol − 1

1600gmol − 1

https://dl.doubtnut.com/l/_oW7sHc8QD6IY
https://dl.doubtnut.com/l/_1PxN03zBPp4z


Watch Video Solution

53. Assuming fully decomposed, the volume of 

released at N.T.P. on heating 9.85 g of  (atomic

mass of Ba = 137) will be

A. 0.84 L

B. 2.24 L

C. 4.06 L

D. 1.12 L

Answer: D

Watch Video Solution

CO2

BaCO3

https://dl.doubtnut.com/l/_1PxN03zBPp4z
https://dl.doubtnut.com/l/_esCt3lTh6PIq


54. A compound contains atoms of three elements A,B

and C. If the oxidation number of A is +2 , B is +5 and that

of C is - 2 , then the possible formula of the compound is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

A3(BC4)2

A3(B4C)2

ABC2

A2(BC3)2

https://dl.doubtnut.com/l/_cxL6lJXSTScE


55. Common salt obtained from sea water contains 95%

NaCl by mass. The approximate number of molecules

present in 10g of the salt is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1021

1022

1023

1024

https://dl.doubtnut.com/l/_xqTAeaGZMPKo


56. The volume of 10 N and 4 N HCl required to make 1 L of

7 N HCl are

A. 0.50 L of 10 N HCl and 0.50 L of 4 N HCI

B. 0.60 L of 10 N HCl and 0.40 L of 4 N HCI

C. 0.80 L of 10 N HCl and 0.20 L of 4 N HCI

D. 0.75 L of 10 N HCl and 0.25 L of 4 N HCI.

Answer: A

Watch Video Solution

57. 20 mL of 10 N HCl are mixed with 10 mL of 36 N HCl and

the mixture is made 1L. Normality of the mixture will be

https://dl.doubtnut.com/l/_VHBj8cueJSUx
https://dl.doubtnut.com/l/_00KOLgpm6jNo


A. 0.56 N

B. 0.50 N

C. 0.40 N

D. 0.35 N

Answer: A

Watch Video Solution

58. Excess of carbon dioxide is passed through 50 mL of

0.5 M calcium hydroxide solution. After the completion of

the reaction, the solution was evaporated to dryness. The

solid calcium carbonate was completely neutralised with

https://dl.doubtnut.com/l/_00KOLgpm6jNo
https://dl.doubtnut.com/l/_YEWvavu3hHkL


0.1 N hydrochloric acid. The volume of hydrochloric acid

required is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

200cm3

500cm3

400cm3

300cm3

59. 10 g of hydrogen and 64g of oxygen were filled in a

steel vessel and exploded. Amount of water produced in

this reaction will be

https://dl.doubtnut.com/l/_YEWvavu3hHkL
https://dl.doubtnut.com/l/_KpsQNhYVqpZD


A. 3 mol

B. 4 mol

C. 1 mol

D. 2 mol.

Answer: B

Watch Video Solution

60. If the mass of 1 mole of water containing x % of heavy

water is 19 g then the value of 'x is

A. 0.3

B. 0.5

https://dl.doubtnut.com/l/_KpsQNhYVqpZD
https://dl.doubtnut.com/l/_Zxrxv0NAGsFq


C. 0.75

D. 0.62

Answer: B

Watch Video Solution

61. A compound contains 8% sulphur. The minimum

molecular weight of the compound is

A. 100

B. 200

C. 350

D. 400

https://dl.doubtnut.com/l/_Zxrxv0NAGsFq
https://dl.doubtnut.com/l/_gN5bnevbn3YF


Answer: D

Watch Video Solution

62. One mole of calcium phosphide on reaction with

excess of water gives

A. One mole of phosphine

B. Two moles of phosphoric acid

C. Two moles of phosphine

D. One mole of phosphorus pentoxide

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_gN5bnevbn3YF
https://dl.doubtnut.com/l/_DLUZIDo1RwJD


63. A gaseous mixture contain 50% He and 50%  by

volume. What is the percent by weight of  in the

mixture ?

A. 0.1997

B. 0.2005

C. 0.5

D. 0.75

Answer: D

Watch Video Solution

CH4

CH4

https://dl.doubtnut.com/l/_DLUZIDo1RwJD
https://dl.doubtnut.com/l/_OeIgC3RFfoKd


64. The mass of carbon anode consumed (giving only

carbon dioxide) in the production of 270 kg of aluminium

metal from bauxite by Hall process is:

A. 180 kg

B. 270 kg

C. 540 kg

D. 90 kg

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_F36J5ur6scEI


65. If 30 ml of  and 20 ml of  react to form water,

what is left at the end of the reaction ?

A. 10 ml of 

B. 5 ml of 

C. 10 ml of 

D. 5 ml of 

Answer: D

Watch Video Solution

H2 O2

H2

H2

O2

O2

66. An alkaloid contains 17-28% of nitrogen and its

molecular mass is 162. The number of nitrogen atoms

https://dl.doubtnut.com/l/_Pt9ZazI2mnFh
https://dl.doubtnut.com/l/_TwOiIonMkwVR


present in one molecule of alkaloid is :

A. five

B. four

C. three

D. two

Answer: D

Watch Video Solution

67. For the formation of 3.65 g of hydrogen chloride gas,

what volumes of hydrogen and chlorine gas are required

at N.T.P conditions ?

https://dl.doubtnut.com/l/_TwOiIonMkwVR
https://dl.doubtnut.com/l/_4u7jr8BjozBW


A. 1.12 L, 1.12 L

B. 1.12 L, 2.24 L

C. 3.65 L, 1.83 L

D. 1 L, 1 L.

Answer: A

Watch Video Solution

68. How many moles of lead (II) chloride will be formed

from a reaction between 6.5 g of PbO and 32 g of HCI ?

A. 0.044

B. 0.033

https://dl.doubtnut.com/l/_4u7jr8BjozBW
https://dl.doubtnut.com/l/_pv9QDcmCwnjC


C. 0.011

D. 0.029

Answer: D

Watch Video Solution

69. Volume occupied by one molecule of water (density

 ) is :

A. 

B. 

C. 

D. 

= 1gcm − 3

9.0 × 10− 23cm3

6.023 × 10− 23cm3

3.0 × 10− 23cm3

5.5 × 10− 23cm3

https://dl.doubtnut.com/l/_pv9QDcmCwnjC
https://dl.doubtnut.com/l/_vNWGvxCoAn23


Answer: C

Watch Video Solution

70. What volume of oxygen gas  measured at 

and 1 atm is needed to burn completely 1L of propane gas

 measured under the same conditions ?

A. 7L

B. 6L

C. 5L

D. 10L

Answer: C

W t h Vid S l ti

(O2) 0∘ C

(C3H8)

https://dl.doubtnut.com/l/_vNWGvxCoAn23
https://dl.doubtnut.com/l/_9GTcDPqaAAOd


Watch Video Solution

71. If 1.5 moles of oxygen combine with Al to form  ,

the mass of Al in g (Atomic mass of Al = 27] used in the

reaction is

A. 2.7

B. 54

C. 40.5

D. 81

Answer: B

Watch Video Solution

Al2O3

https://dl.doubtnut.com/l/_9GTcDPqaAAOd
https://dl.doubtnut.com/l/_wH5Na4rDCuhC


72. For a reaction A + 2B  C , the amount of C formed

by starting the reaction with 5 moles of A and 8 moles of

B is

A. 5 moles

B. 8 moles

C. 16 moles

D. 4 moles

Answer: D

Watch Video Solution

→

https://dl.doubtnut.com/l/_PFTgoz6xRPjc


73. A sample of phosphorus trichloride  contains

1.4 moles of the substance. How many atoms are there in

the sample ?

A. 4

B. 5.6

C. 

D. 

Answer: D

Watch Video Solution

(PCl3)

8.431 × 1023

3.372 × 1024

https://dl.doubtnut.com/l/_KAUJheLFgK6L


74. 4 g of copper was dissolved in concentrated nitric

acid. The copper nitrate on strong heating gave 5 g of its

oxide. The equivalent weight of copper is

A. 23

B. 32

C. 12

D. 20

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_rDGbCMbUYA6n


75. The crystalline salt  on heating loses

55.9 % of its weight. The formula of crystalline salt is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Na2SO4. xH2O

Na2SO4. 5H2O

Na2SO4. 7H2O

Na2SO4. 2H2O

Na2SO4. 10H2O

76. What is the molality of pure water

https://dl.doubtnut.com/l/_DV2kP9fm5K2m
https://dl.doubtnut.com/l/_umV0IWg6O16L


A. 1

B. 18

C. 55.5

D. none of these

Answer: C

Watch Video Solution

77. The molarity of 98%  (d = 1.8 g/mL) by weight is

A. 6M

B. 18M

C. 10M

H2SO4

https://dl.doubtnut.com/l/_umV0IWg6O16L
https://dl.doubtnut.com/l/_WY2qsQKqMMIX


D. 4M

Answer: B

Watch Video Solution

78. How much time (in hours ) would it take to distribute

one avogardo number of wheat grains if  grains are

distributed each second ?

A. 0.1673

B. 1.673

C. 16.73

D. 167.3

1020

https://dl.doubtnut.com/l/_WY2qsQKqMMIX
https://dl.doubtnut.com/l/_jj8PBcHGJeoB


Answer: B

Watch Video Solution

79. Arrange the following in the order of increasing mass

(atomic mass: O = 16, Cu = 63, N = 14) 

I. one atom of oxygen 

II. one atom of nitrogen 

III.  mole of oxygen 


IV.  mole of copper

A. II lt I lt III lt IV

B. I lt II lt III lt IV

C. III lt II lt IV lt I

1 × 10− 10

1 × 10− 10

https://dl.doubtnut.com/l/_jj8PBcHGJeoB
https://dl.doubtnut.com/l/_NDHMccPegMQJ


D. IV lt II lt III lt I

Answer: A

Watch Video Solution

80. Which one of the following sets of compounds

correctly illustrate the law of reciprocal proportions ?

A. 

B. 

C. 

D. 

Answer: A

P2O3, PH3, H2O

P2O5, PH3, H2O

N2O5, NH3, H2O

N2O, NH3, H2O

https://dl.doubtnut.com/l/_NDHMccPegMQJ
https://dl.doubtnut.com/l/_4psVI6djwtZx


Watch Video Solution

81. 20.0 kg of  and 3.0 kg of  are mixed to

produce  . The amount of  (g) formed is

A. 17 g

B. 34 g

C. 20 g

D. 3 kg

Answer: A

Watch Video Solution

N2(g) H2(g)

NH3(g) NH3

https://dl.doubtnut.com/l/_4psVI6djwtZx
https://dl.doubtnut.com/l/_nV3UjgyrFjUd


82. Mole fraction of the solute in a 1.00 molal aqueous

solution is

A. 

B. 0.0177

C. 0.0344

D. 

Answer: B

Watch Video Solution

0.1770

1.7700

83. What is the volume of  liberated (in litres) at 1

atmosphere and  when 10 g of 100% pure calcium

CO2

0∘ C

https://dl.doubtnut.com/l/_Lz71ayZpU3qC
https://dl.doubtnut.com/l/_59anOSAp5GkX


carbonate is treated with excess dilute sulphuric acid ?

(Atomic mass Ca = 40, C = 12, O = 16)

A. 0.224

B. 2.24

C. 22.4

D. 224

Answer: B

Watch Video Solution

84. A 100% pure sample of a divalent metal carbonate

weighing 2 g on complete thermal decomposition

https://dl.doubtnut.com/l/_59anOSAp5GkX
https://dl.doubtnut.com/l/_OxRIMlBt78ub


releases 448 cc of carbon dioxide at STP. The equivalent

mass of the metal is

A. 40

B. 20

C. 28

D. 12

Answer: B

Watch Video Solution

85. The equivalent mass of a certain bivalent metal is 20 .

The molecular mass of its anhydrous chloride is

https://dl.doubtnut.com/l/_OxRIMlBt78ub
https://dl.doubtnut.com/l/_gl03RTYjXGzD


A. 91

B. 111

C. 55.5

D. 75.5

Answer: B

Watch Video Solution

86. The total number of electrons in 18 mL of water

(density = 1 g  ) is

A. 

B. 

mL− 1

6.02 × 1023

6.02 × 1025

https://dl.doubtnut.com/l/_gl03RTYjXGzD
https://dl.doubtnut.com/l/_ZWctWMjFI2eS


C. 

D. 

Answer: C

Watch Video Solution

6.02 × 1024

6.02 × 18 × 1023

87. Two solutions of HCI, A and B, have concentrations of

0.5 N and 0.1 M respectively. The volume of solutions A

and B required to make 2 litres of 0.2 N HCl are

A. 0.5 L of A + 1.5 L of B

B. 1.5 L of A + 0.5 L of B

C. 1.0 L of A + 1.0 L of B

https://dl.doubtnut.com/l/_ZWctWMjFI2eS
https://dl.doubtnut.com/l/_yRFJTFaBx6iw


D. 0.75 L of A + 1.25 L of B

Answer: A

Watch Video Solution

88. Avogadro number  of carbon atoms are

present in

A. 12 grams of 

B. 22.4 litre  at room temperature

C. 44 grams of 

D. 12 moles of 

Answer: C

(6.022 × 1023)

12CO2

12CO2

12CO2

12CO2

https://dl.doubtnut.com/l/_yRFJTFaBx6iw
https://dl.doubtnut.com/l/_cfdAy9iXZnwy


Watch Video Solution

89. The volume of 0.1 M  required to neutralize

10 mL of 0.1 N HCI

A. 10 mL

B. 20 mL

C. 5mL

D. 15mL

Answer: C

Watch Video Solution

Ca(OH)2

https://dl.doubtnut.com/l/_cfdAy9iXZnwy
https://dl.doubtnut.com/l/_WRBnglETtxFL


90. An aqueous solution of 6.3 g of oxalic acid dihydrate is

made upto 250 mL. The volume of 0.1 N NaOH required to

completely neutralize 10 mL of this solution is

A. 40mL

B. 20mL

C. 10mL

D. 5mL

Answer: A

Watch Video Solution

91. How many moles of electrons weigh one kilogram?

https://dl.doubtnut.com/l/_Awwtf95pjomc
https://dl.doubtnut.com/l/_8r2WljmCJbRI


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

6.023 × 1023

× 10311

9.108

× 10546.023

9.108

× 1061

9.108 × 6.023

92. Mixture X = 0.02 mol of  Br Brand

0.02 mol of  was prepared in 2L of

solution. 

1 L of mixture X + excess of  

[Co(NH3)5SO4]

[Co(NH2)5Br]SO4

AgNO3 → Y

https://dl.doubtnut.com/l/_8r2WljmCJbRI
https://dl.doubtnut.com/l/_qyBwSjq8ciCI


1 L of mixture X + excess of  

Number of moles of Y and Z are :

A. 0.01 , 0.01

B. 0.02 , 0.01

C. 0.01 , 0.02

D. 0.02 , 0.02

Answer: A

Watch Video Solution

BaCl2 → Z

93. Which has maximum number of atoms?

A. 24g of C (12)

https://dl.doubtnut.com/l/_qyBwSjq8ciCI
https://dl.doubtnut.com/l/_5TS6v69jCA3u


B. 56g of Fe (56)

C. 27g of Al (27)

D. 108g of Ag (108)

Answer: A

Watch Video Solution

94. Number of atoms in 588.6 g Fe (atomic mass of Fe =

55.86 g  ) is

A. twice that in 60 g carbon

B. 

C. half that of 8g He

mol − 1

6.023 × 1022

https://dl.doubtnut.com/l/_5TS6v69jCA3u
https://dl.doubtnut.com/l/_gzIrm754bhhu


D. 

Answer: A

Watch Video Solution

558.6 × 6.023 × 1023

95. What volume of hydrogen gas at 273K and 1 atm

pressure will be consumed in obtaining 21.6 g of

elemental boron (atomic mass = 10.8) from the reduction

of boron trichloride by hydrogen ?

A. 67.2 L

B. 44.8 L

C. 22.4L

D. 89.6 L

https://dl.doubtnut.com/l/_gzIrm754bhhu
https://dl.doubtnut.com/l/_Q9pBQV0wP4Qj


Answer: A

Watch Video Solution

96.  molecules of urea are present in 100 ml of

its solution. The concentration of solution is

A. 0.02 M

B. 0.01 M

C. 0.001 M

D. 0.1 M

Answer: B

Watch Video Solution

6.02 × 1020

https://dl.doubtnut.com/l/_Q9pBQV0wP4Qj
https://dl.doubtnut.com/l/_EczL3I2AcUAk


97. One mole of magnesium nitride on reaction with

excess of water gives

A. two moles of ammonia

B. one mole of nitric acid

C. one mole of ammonia

D. two moles of nitric acid

Answer: A

Watch Video Solution

98. If we consider that 1/6 in place of 1/12, mass of carbon

atom is taken to be the relative atomic mass unit, the

https://dl.doubtnut.com/l/_EczL3I2AcUAk
https://dl.doubtnut.com/l/_0Rx5TAHrCeY7
https://dl.doubtnut.com/l/_uNdRLnaw8wRB


mass of one mole of a substance will

A. decrease twice

B. increase two fold

C. remain unchanged

D. be a function of the molecular mass of the

substance

Answer: D

Watch Video Solution

99. How many moles of magnesium phosphate,

 , will contain 0.25 mole of oxygen atoms ?Mg3(PO4)2

https://dl.doubtnut.com/l/_uNdRLnaw8wRB
https://dl.doubtnut.com/l/_2keZog4RfX2o


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3.125 × 10− 2

1.25 × 10− 2

2.5 × 10− 2

0.02

100. In the reaction : 

A. 33.6L  (g) is produced regardless of temperature

and pressure for every mole Al that reacts.

2Al(s) + 6HCl(aq) → 2Al3 + (aq) + 6Cl− (aq) + 3H2O(g)

H2

https://dl.doubtnut.com/l/_2keZog4RfX2o
https://dl.doubtnut.com/l/_8FIOFMy783Og


Multiple Choice Question Level Iii

B. 67.2 L  (g) at STP is produced for every mole Al

that reacts.

C. 11.2 L  (g) at STP is produced for every mole HCl

(aq) consumed.

D. 6L HCl (aq) is consumed for every  (g) is

produced.

Answer: C

Watch Video Solution

H2

H2

3LH2

https://dl.doubtnut.com/l/_8FIOFMy783Og


1. Given that the abundances of isotopes  and 

 are 5%, 90% and 5% respectively, the atomic mass of

Fe is

A. 55.85

B. 55.95

C. 55.75

D. 56.05

Answer: B

Watch Video Solution

54Fe, 56Fe

57Fe

https://dl.doubtnut.com/l/_rUb5qS6absZK


2. The mass of potassium dichromate crystals required to

oxidise  of 0.6 M Mohr's salt solution is: (Given

molar mass : potassium dichromate = 294, Mohr's salt =

392)

A. 0.45 g

B. 22.05 g

C. 2.2 g

D. 0.49 g

Answer: B

Watch Video Solution

750cm3

https://dl.doubtnut.com/l/_PEdtktgDPI3K


3. The molarity of a solution obtained by mixing 750 mL of

0.5 (M) HCl with 250 mL of 2(M) HCI will be:

A. 0.875 M

B. 1.00 M

C. 1.75 M

D. 0.975 M

Answer: A

Watch Video Solution

4. A gaseous mixture contains oxygen and nitrogen in the

ratio of 1:4 by weight. Therefore, the ratio of their number

https://dl.doubtnut.com/l/_npgDdQQvAYJv
https://dl.doubtnut.com/l/_UWrLQ9Sn5lEk


of molecules is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1: 4

7: 32

1: 8

3: 16

5. The molecular formula of a commercial resin used for

exchanging ions in water softening is  (Mol.

Wt. 206). What would be the maximum uptake of

ions by the resin when expressed in mole per gram resin ?

C8H7SO3Na

Ca2 +

https://dl.doubtnut.com/l/_UWrLQ9Sn5lEk
https://dl.doubtnut.com/l/_meJPYdDXmVdB


Recent Examination Question

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1

103

1

206

2

309

1

412

1. 80 g of oxygen contains as many atoms as in

A. 10 g of hydrogen

https://dl.doubtnut.com/l/_meJPYdDXmVdB
https://dl.doubtnut.com/l/_27NJtG3ucQfx


B. 5 g of hydrogen

C. 80 g of hydrogen

D. 1 g of hydrogen.

Answer: B

Watch Video Solution

2. Excess of carbon dioxide is passed through 50 mL of 0.5

M calcium hydroxide solution. After the completion of the

reaction, the solution was evaporated to dryness. The

solid calcium carbonate was completely neutralised with

0.1 N hydrochloric acid. The volume of hydrochloric acid

required is

https://dl.doubtnut.com/l/_27NJtG3ucQfx
https://dl.doubtnut.com/l/_VsYoDwb81Jmw


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

200CM 3

500cm3

400cm3

300cm3

3.  of 0.2N HCl is titrated against 0.1N NaOH

solution. The titration is discontinued after adding 

of NaOH. The remaining titration is completed by adding

0.5N KOH. The volume of KOH required for completing the

titration is :

50cm3

50cm3

https://dl.doubtnut.com/l/_VsYoDwb81Jmw
https://dl.doubtnut.com/l/_DjzSDsVlD55b


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

12cm3

10cm3

25cm3

10.5cm3

4. A mixture of  and NaCl weighing 4.44g is treated

with sodium carbonate solution to precipitate all the

calcium ions as calcium carbonate. The calcium carbonate

so obtained is heated strongly to get 0.56g of CaO. The

CaCl2

https://dl.doubtnut.com/l/_DjzSDsVlD55b
https://dl.doubtnut.com/l/_dYO3q7LppxK0


percentage of NaCl in the mixture is [Atomic mass of Ca =

40]

A. 31.5

B. 75

C. 25

D. 40.2

Answer: B

Watch Video Solution

5. The equivalent mass of a certain bivalent metal is 20 .

The molecular mass of its anhydrous chloride is

https://dl.doubtnut.com/l/_dYO3q7LppxK0
https://dl.doubtnut.com/l/_2jXzfBrOZ3qp


A. 91

B. 111

C. 55.5

D. 75.5

Answer: B

Watch Video Solution

6. The total number of electrons in 18 mL of water (density

= 1 g  ) is

A. 

B. 

mL− 1

6.02 × 1023

6.02 × 1025

https://dl.doubtnut.com/l/_2jXzfBrOZ3qp
https://dl.doubtnut.com/l/_E1cbCefT2F5g


C. 

D. 

Answer: C

Watch Video Solution

6.02 × 1024

6.02 × 18 × 1023

7. The volume of 0.1 M oxalic acid that can be completely

oxidized by 20 mL of 0.025 M  solution is

A. 125mL

B. 25mL

C. 12.5mL

D. 37.5 mL

KMnO4

https://dl.doubtnut.com/l/_E1cbCefT2F5g
https://dl.doubtnut.com/l/_CHUpZVvvtDqA


Answer: C

Watch Video Solution

8. The number of water molecules present in a drop of

water weighing 0.18g is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

6.022 × 1026

6.022 × 1023

6.022 × 1019

6.022 × 1021

https://dl.doubtnut.com/l/_CHUpZVvvtDqA
https://dl.doubtnut.com/l/_PyhMcl5DhbLT


9. Empricial formula of a compound is  and its

molecular mass is 90, the molecular formula of the

compound is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH2O

C3H6O3

C2H4O2

C6H12O6

CH2O

10. The mass of  gas at STP is112cm3  of NH3

https://dl.doubtnut.com/l/_PyhMcl5DhbLT
https://dl.doubtnut.com/l/_83L23SrKjNTt
https://dl.doubtnut.com/l/_KuVZQ8MDTQ72


A. 0.085 g

B. 0.850 g

C. 8.500 g

D. 80.500 g

Answer: A

Watch Video Solution

11. 10 g of a mixture of BaO and CaO requires  of

2.5 M HCl to react completely. The percentage of calcium

oxide in the mixture is approximately (Given : molar mass

of BaO= 153)

A. 52.6

100cm3

https://dl.doubtnut.com/l/_KuVZQ8MDTQ72
https://dl.doubtnut.com/l/_2BraYhUj8PRw


B. 55.1

C. 44.9

D. 47.4

Answer: A

Watch Video Solution

12.  of oxalic acid completely neutralised 0.064 g of

sodium hydroxide. Molarity of the oxalic acid solution is

A. 0.064

B. 0.045

C. 0.015

25cm3

https://dl.doubtnut.com/l/_2BraYhUj8PRw
https://dl.doubtnut.com/l/_6laAOBxVg9Px


D. 0.032

Answer: D

Watch Video Solution

13. What amount of dioxygen (in gram) contains

 molecules ?

A. 

B. 

C. 

D. 

Answer: D

1.8 × 1022

9.60

0.0960

96.0

0.960

https://dl.doubtnut.com/l/_6laAOBxVg9Px
https://dl.doubtnut.com/l/_3x6FrIOQBzkn


Watch Video Solution

14. 20 ml of acetic acid reacts with 20 ml of ethyl alcohol

to form ethyl acetate. The density of acid and alcohol are

1 g/ml and 0.7 g/ml respectively. The limiting reagent in

this reaction is :

A. Acetic acid

B. Ethyl alcohol

C. Acetic acid and ethyl alcohol

D. Ester.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_3x6FrIOQBzkn
https://dl.doubtnut.com/l/_flGcjjhINzbK


15. The mass of oxygen gas which occupies 5.6 litres at STP

would be

A. The gram atomic mass of oxygen

B. One fourth of the gram atomic mass of oxygen

C. Double the gram atomic mass of oxygen

D. Half of the gram atomic mass of oxygen.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_flGcjjhINzbK
https://dl.doubtnut.com/l/_SaBsehnlpA0X

